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Take our quiz!

Great job! You got 15 out of 15 guestions correct.

Look below lo see whal you got right, what you got wrang, and why!

v Question 1 of 15

Supports the prnciple of "least privikege™ by providing that only authonzed individuals, processes. or systems should
have access to information oh a nead<4o-know basis,

A, Deterrent controls

B. | Confidentiality
L

G Inodent

L Availability

< Question 2 of 15

Procadures implemented to define the roles, responsibilities, polices, and admirisirative funchons needed o manage
the control environmant.

A Integrity

8. Risk transfer

C. Compensating controls

¥ Question 3 of 15

Controls that substitule for the loss of primary controds end mitigate nsk down 0 &n accepiable fevel.

A, Cornpllance



€. Correchive controls

< Question 4 of 15

A security svenl thal compromises the confidentiality, integrity, or availability of an information assat,

A | Incidemt

B. Breach

C. Trademark

v Question 5 of 15

A combination of the probability of an event and s consequence (IS0 27000) and an exception 1o loss expressed as the
probability that a particular threat will explolt a particular vuinerability with a particular harmful result (RFC 2828).

A Breach

B. Copynght

C. Patenl

D. | Risk L J

¥ Question B of 15

Preventive Cantrols: Authorizes the President to designate those items that shall be considerad as defense articles and
defense services and control their import and the export.

A True

B. | False



7 Question 7 of 15
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A True

8. | False

~ Question B of 15

Availa_blw:ﬂmpmdphMmhihhﬂﬁhﬂihﬂeﬂ%hm%nw.

A | True

B. Fakse

¥ Question 9 of 15
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A [ True T

B. Falsa

v Question 10 of 15

Trademark. Established lo contribute 1o regional and imemational security and stability by promaling transparency and
greater responsibility In transfers of conventional arms and dual use goods and technologles, thus preventing
destabilizing accumulations.

8. | Faie

it




A Tne

B. False

¥ Question 12 of 15
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A, True

B. | Falsa

+ Question 13 of 15
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A True

B. | False

¥ Question 14 of 15
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A True

B. | False

v Question 15 of 15
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unauthorized party.



